
  

CCCCaaaapppprrrriiiiccccoooorrrrnnnn    RRRRCCCC- Option Parts - 

Made in Italy

16

cod. Cap 2248cod. Cap 2181-K

cod. Cap 2300

cod. Cap 2280-K
      Ack 8,5

cod. Cap18027cod. Cap 2546

cod. One90134

40x40 FAN
60T - 62T

cod. Cap 2050B-60
cod. Cap 2050B-62

cod. Cap 2541   15T
cod. Cap 2542   16T
cod. Cap 2543   17T
cod. Cap 2544   18T cod. Cap 2502-K

2S Shorty Li-Po Conversion

M3x6mm    cod. Cap29268
M3x8mm    cod. Cap29269
M3x10mm  cod. Cap29270
M3x14mm  cod. Cap29272

Aluminium screws

M3x5mm    cod. One29276
M3x6mm    cod. One29277
M3x8mm    cod. One29278
M3x10mm  cod. One29279

M4x8mm    cod. Cap 2350
M4x10mm  cod. Cap 2351
M4x12mm  cod. Cap 2352
M4x14mm  cod. Cap 2353

cod. Cap 2558-K

Side to Side Li-Po Conversion
cod. Cap 2556-K

cod. Cap 2555
  9° - 14° Caster

http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3910-labc8-piastrina-flex.html
http://capricornrc.com/capricorn/it/optional-lab-c03-evo/2291-squadretta-superiore-salvaservo-regolabile-1-10-black-1pz.html
http://capricornrc.com/capricorn/it/optional-lab-c803-evo/3071-kit-inserto-squadretta.html
http://capricornrc.com/capricorn/it/optional-lab-c803-evo/2433-squadretta-inf-salvaservo-regolabile.html
http://capricornrc.com/capricorn/it/optional-lab-c803-evo/2884-kit-mozzi-posteriori-cvd-alu-special-coated-2-pz.html
http://capricornrc.com/capricorn/it/optional-lab-c803-evo/3284-peso-cilindrico-15gr-1pz-.html
http://capricornrc.com/capricorn/it/accessori-motori/3584-fan-kit-comprensivo-di-prolunga-40x40.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/1725-corona-1-marcia-z62.html
http://capricornrc.com/capricorn/it/ricambi-lab-c803/1727-corona-1-marcia-z62.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/4086-kit-distanziale-motore.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3912-labc8-pignone-z15-non-incluso-.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3913-labc8-pignone-z15-non-incluso-.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3914-labc8-pignone-z15-non-incluso-.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3915-labc8-pignone-z15-non-incluso-.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/3923-labc8-sr-shorty-lipo-conversion.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3461-vite-m3x6-testa-bombata-alu-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3531-vite-m3x8-testa-special-bottom-alu-6pz-gold.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3460-vite-m3x10-testa-bombata-alu-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3533-vite-m3x14-testa-special-bottom-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3681-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3535-vite-m3x6-testa-svasata-alu-6pz-oro.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3682-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3811-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3812-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/viteria-7075-cnc-machined/3813-vite-m3x5-testa-speciale-6pz.html
http://capricornrc.com/capricorn/it/home/4085-kit-lab-sr8-batterie-side-to-side.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/4099-piastra-radio-2s.html



